PDFIF21FE8A R DNATY , BsiEHmweBE TR

HINGE PINS -NUT TYPE WITH FLANGE-

~ [\ O Zi;JD:Z-ms_Eﬁ"
eyvey BEEALE

—YI\fFF vk 51 T—

FALEEN (ERR TR - g R 12T 12158)

http://fa.misumi.jp

@A2O7 BN RIEZES BER137
(®) CADF—#474/V4 4 : 13_Hinge_Pins

Type O & (13)
LTEES(7 LTEESA7 O #& (HE:J: S B =@EnE N N
WEF ok | WEFoR | UFF Lol | Wk
CLBDG | CLBGN CLBGNU — _ 55400
CLBDGH |CLBGHN _|CLBGHNU ao~aomRe | PERIESREE MSWRCH | THinyTK)
PCLBGN | PCLBGNU S45CHHY — PR . [ sUS304
—  [PCLBGHN |PCLBGHNU o~aomRe | REM=vrvox | DSUSSM | Hyrs)
GCLBGN | GCLBGNU AyRBETSN~|  BEIOLAX [ SWRCH | 55400 (UNUTK)
| SCLBDG |SCLBGN _ |SCLBGNU | SUS304t8%% — _
=) — SCLBGHN | SCLBGHNU | SUs440ci/-is | 45~50HRG (0 SUS304 %ﬁﬂﬁg@“
= — | GSCLBGHN | GSCLBGHNU | 1302712 [0z a0ie | B OLA T
e S COSLIF . (W)
@;1 °T b=} M
B e — le)
[RotiS 10 < . . i /.\
&
DAE (g0) ‘ ‘
a~e | 000 B () i CLBDG(CLBGN-CLBGNU-
o | oo @UTSHIT SORRRBE (o) L5VET, L ! PCLBGN-PCLBGNU) 5l
= = O FEICEN L 2—RPFIREN TEVET,
12~18 | 000 Q@UFvbOFABE L, PH-278ICIBBINTHNET,
oo | 007 (©CLBDGORIEI I, BA S 7ERBIET D1 DMEIEHN BYET .
—0.020 (CLBGN - CLBGNU - PCLBGN - PCLBGNUIZIZ#RIFEN [I5ED BT, )
@VINT ORI ETHEAZIIBEETT,
BLFTEE217
B L M . YEAEE
Type D iR A| B | T |F | u | |gg| HEFN 51556 TciepeH [ scLepa
4 7 5] 3 3.9 M3 | M3x05 220 230 270
gtEBgH 5 |10 121415 16 18 20 22 24 25 30 9 71 41 a0 M4 | M 4x07 230 240 290
HEAsqs) 8 15 16 18 20 22 24 25 30 0 | 8 o | 58 | 4 [M5 [ mM5x08 260 290 330
5 8 1516 18 20 2224 2530 35404550] 13 | 10 | 78 | " [ M6 | M6x1.0 290 320 420
SCLBDG [+4o 18 20 22 24 25 30 35 40 45 50| 16 | 13 12 | 98 M8 | M8x1.25 360 390 550
(R7L2) 45 22 24 25 30 3540 4550 18 | 14 16 | 11.8 M0 | M10X15 450 510 750
BLTHEE 27 (0. 1mmEifi)
T YE ¥R
= R0 1mmigz| A B| T/ F| u || M| EFoh WEFF \ UF vk
Type D - (CLBGN]CLBGHN]PCLBGN[PCLBGHN] GCLBGN]SCLBGN]SCLBGHN]GSCLEGHN] CLBGNU]CLBGHNU[PCLBGNU PCLBGHNU[ GOLEGNU [SCLBGNU SCLBGANU[C0LEGHIU
[FEZIN 4 | 50~ 700 [7]5]3] [39] [M3[M8x05] 300] 360] 390[ 500 780 460] 620[1200] = [ — [ = [ = [ = [ = | = | —
CLBGN 5 | 50~100.0 [9]7[4|°[49] [M4|M4ax07 | 310] 380 410] 520] 820 480 640(1,280 360| 430| 470| 580| 870 590 740]1,480
CLBGHN 6 5.0~120.0 [10[8 o |58 8 | 320] 400] 420] 540 840] 500] 660[1,320] 360| 440 480| 600| 880| 610| 760[1,520
Egtggnn 8 | 5.0~120.0 [13[10 7.8 410] 480] 520] 6501,040] 610 810[1,620 460| 530] 600] 730(1,090| 740| 930[1,860
P 10 | 5.0~120.0 [16[13] [12]9:8 470] 560| 590 740]1,180] 690 900(1,800| 530] 630 690| 840(1,250| 850(1,050|2,100
SGLBGN 12 | 10.0~200.0 |18[14] [16]11.8 600] 670| 760| 920|1,520| 890[1,140(2,280 690| 760| 900[1,0601,610(1,120]1,360|2,720
SCLBGHN | 13 128 670] 700| 820[ 960|1,640| 930[1,190(2,380| 770| 810(1,010]1,150(1,750(1,250(1,5003,000
GSCLBGHN | 14 138, 710] 740| 850(1,000]1,700| 950(1,220(2,440| 820| 8501,040(1,1901,810(1,270(1,5303,060
UFoh 15| 15 0-200.0 |2al21| 5 1181281 | 141 ot 75| 750 | 770] 880]1,080[1.760] 970[1,250(2500] 860 880[1,070]1,220(1,870]1,290(1,560(3,120
CLBGNU 6| ’ 15. “*["780] 00| 910[1,0601,820 990[1,290(2,580| 900| 920]1,110[1,260]1,940(1,3301,610]3,220
CLBGHNU 47 16.8 850| 880[1,0001,170(2,000{1,0901,420(2,840 990(1,030(1,230 1,400 2,150{1,470 1,780 3,560
FoLBaNy , 18 17.8 950 9901,110[1,310{2,220(1,220{1,580[3,1601,1101,160]1,380 | 1,580 | 2,390 | 1,660 2,000 4,000
GOLBGNU |20 o7l2a| |24198 1,010[1,060(1,190(1,4102,380]1,310[1,7003,400{1,200 | 1,260 1,490[ 1,710 2,580 1,790 2,160 4,320
SCLBGNU | 22 | 15.0~200.0 |=7]%°| 218) | 16 lmoxo |1:530]1.610]2.120]2,260]4,240]2,600]2.8205,640| 1,750 1,840| 2,420 2,560 4,470 | 3,090 3,280 6,560
SCLBGHNU | 25 30[27 24.8 * [2,050[2,1603,040( 3,100 6,080 3,890 3,930 [ 7,860 2,300 | 2,410 3,340 3,400 6,330 4,390 | 4,390 | 8,780
GSCLBGHNU | 30 | 20.0~200.0 |35[32] [30[29.8 2,5502,6603,540(3,600(8,710| — |4,430(8,940(2,800]2,910(3,840(3,900(8,960| — |4,890[9,400
(DSCLBGHN - SCLBGHNUIZEA IC KW BT BIZ AN HNET,
Order Altevation [ =2 |-[L]- Fc-mc-TC-LKO)
#XW  goBDGS — 30 BT CLBGHN15 — 1203 — FC20 — MC10
CLBGHN15 — 120.3 OLHEES A7 IER
4 SF-SCLBGN15 — 120.3 *VBREEE *EZE INEEE LTZEAEZER
FiRE % —EXBTP130
- ; 3 R | H— R
st e | = === 1 =
wHE ()| = = @ |BAHE BT P133 FC ve / 1C LKC _|
@OZFHLIZLNIPMG00iZ, YAHFFMILET .
WiEERT - TN Code FC MC TC LKC
=
2 gows FEE A Foe R k| MC3 FEEAETCs FEEAE LK
D[ WCCHREE
ERA-—2 ARSI 2057 [0B/FEE PM 3:002 g —je Ry =350, R | LA EF+0,
A wATE P sonis 2= P134 (OFC=#gTE 1mmBsfiz 2 2 - @TC=157E0.5mmB fir ‘L_-rgétzg_oos
@AP—FARE) 1 BT 4 /1) — {22007 0 456 - °
DR — AR L C1 BB 4720 — (#5407 ©M(ve) <Fc=m(MC) X3 568 ®2=TC=5
LHERS17 - BEIOLLyF Spec. i
10 12
EEMS
Do WERROES
price MLTEES(7 EINTFCEHATE,
@m’f WHE 251Kl (QIRR#IURT P ®D4. DIOEAFA
R BENG @UFvheA T EMCER AR
W B | 1~19 zo~49d\nso~99 100~199 ¥/1Code 200 200 300 500
@51 || 10% 25% 40%
OFRTHEBZIIWOSICTIFEBE
WLHEEL(T - BRELUS BLHEEZ(T - BEI/OLX Y%
MBS R ERE (D1RKENIET P33 WSEZSM N (OIREB5940 m33
PR [EETESTT [ E30T 1B RIS
A =] *0 *0 A =) %0 %0
B B 1~4 | 5~12 | 13~19 | 20~49 | 50~200 | 201~300 | 301ELE W B 1~4 | 5~12 | 13~19 | 20~49 | 50~200 | 201~300 | 301ELE
BRI | R [ 5% | 10% 18% | 18% 30% | 4o BRI | HERE [ 5% | 10% | 18% 18% 30% | yem
HTEE B +1H | +6H | +13H " HETE BE +5H +128 -

HEBAIWOSIC TR R
IEARO EE =T33 i5% 0

OFTHEBAIIWOSIC TR AL,

K937





